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There are 15 questions in all in this Section. All questions are compulsory.
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~ Which one of the following is not applicable to human ?
(A) Autotrophic | (B) Omnivore
() Heterotrophic (D) Carnivore.

2.  eeFl (@9 =¥ @ FepifEit wrer ¢ift 2

@A) o= D B fofmc
(c) feoif K . D) feRlm A
Night blindness is caused due to deficiency of
(A)  Vitamin D - '~ (B) Vitamin C
(C)  Vitamin K (D)  Vitamin A.

@ S9N FpaeT 2, Seif 19 IR A ?

(a) et B)  woifn
(0( Enn Q{D)‘ IENIGIGIT
If you have caries, whom would you consult ?
(A)  cardiologist (B)  Orthopaedics
(€)' Dentist (D)  Neurologist.
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Kangaroo is the national emblem of

(A) Canada (B) Australia
(C)  Ttaly (D)  Ireland.
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(A)  CICmE By THIRE qdd W&
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By which the food tofu is made ?

(A) Cocoa , (B) Soyabean milk curd
(&)} Curd (D) Coffee.

© ¥ T IO B T
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The deepest lake in the world is

(A) Red Sea _ (B) Dal Lake
(C) Caspian Sea (D) Lake<B~a'{kal.
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Which mammal lays eggs ?

(A) Dolphin _ (B) Duck-billed Platypus
() Whale (D) Dugong.
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Who i . )
O 1s regarded as the Principal architect of the Constitution of India ?

(A) B. N. Rao (B) Dr. B. R. Ambedkar

(C) -°N. Gopalswami Ayyangar (D) Dr. Rajendra Prasad.

ﬁﬁﬁ%m@ﬂﬁawqmquw ?
(A) SN | B) TIRTEG

" wew (D)  feerafaan

Which of the following diseases is not caused by bacteria ?
(A) Amoebiasis (B) Typhoid

(C) Cholera (D)  Diphtheria.

10.  ‘Retame facf [Rge *@
K e R (B) TR
| < l
)  wyreEeR R L s o
Big-Bang theory explains
B origin of Sun
(A)  origin of Universe (B)
D origin of microbes.
(C)  origin of gravitation B .
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The intensity of earthquake is measured by

(A)  Barometer (B) Hydrometer

(C)  Polygraph ‘ (D)  Seismograph.
MR (CRE L

(A) AW T I@ AW B Ato ffel I I
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What happens to deciduous trees ?
(A) Lose their flower in summer (B) Lose their leaves in winter

(C) Lose their flower in winter (D)  Die during winter.

THIE &) AREE @Hib k9T ] ?

X @ =
W (D) I
Which can be used for biological control.of mosquito ?

(A)  Puntius . - (B} Rohu
(C) Gambusia (D) Bata.

geret st BT A faet mIC 20t fesret, @b 2=

14. |
(@) et STRETPTRIIRE | B e sz miae
) e CIETGIMIBIZIEN D) = 2wy
Bh‘op al gas tragedy was caused by leakage of MIC gas, which is
(A)  Methyl isocyanite (B)  Methyl isocyanate
(C)  Methyl isocyanide (D)  Methyl isocitrate.
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Which of the following is not known as greenhouse gas ?

(A) Methane . (B)  Nitrous oxide
(@] Carbon dioxide (D)  Hydrogen.
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Section - II
Current Affairs
9 e (5 15 B o SR | e opg3 S|

There are 15 questions in all in this Section. All questions are compulsory.
@' it 3w ey TET e
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The book "Playing it My Way' is authored by
(A) Sunil Gavaskar (B)  G.R. Viswanath

(C) Sachin Tendulkar (D) Sourav Ganguly.

17. A& STRPIRI TR IR I0E (TSI 73177 fof 267

(A) SIS (B) Y
ey e | D) ™R
The ministers of the State Government are collectively responsible to
(A) the Governor (B) the Chief Minister
(C) the Bidhan Sabha (D)  the Speaker.

(A) 1901 e UBIC 1905 I

() 19107 . \u!) 1911 I |

The British team was defeated by the Mohun Bagan Club in the year
(a) 1901 (B) 1905

(c) 1910 (D) 1911,
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Which of the following is tropical monsoon crop ?
(A) Paddy B Wheat
€ Bara (D)  Mustard.
20. feyoms w@fEe (ST |
Ly B
( LI D) o
Viswabharati is situated in the district
() Purulia ' (B) Bankura
(C) Birbhum (D)  Medinipur.
21. (I IR A (F IEA ?
A) NS G B) Tew oW
Jor” @@ oW (D) o= G|
Who is credited with the founding of Kulinism ?
(A) Samanta Sen (B) Vijaya Sen
(C) Ballal Sen (D) Lakshman Sen.
0. GEEI (3 IR T Y& R O R
.,{A’)/‘ W\ (B) IO
c 3 (D) ==
Dhyan Chand was associated with the sport
(A) Running (B)  Football
(C) Boxing (D)  Hockey.
9 of 20
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Which one is the renewable energy ?
(A) Solar power (B) Thermal power
(C) Atomic power ' ' (D) Petroleum'.
. _
'9 I e ... . AT Bl FCACE |
(A) e B) W
oy sifvaas (D)  TRHE|
.Gatidhara Prakalpa is introduced by the Government of
(A)  Odisha - ' , (B)  Assam
(C) West Bengal _ (D) Maharashtra.

@5. T, 2014 (S (@AW SRIIEE (P T8 GFRHA (SO A0 (ADB) QTS O S1S33-9

SR e RETR e =@ »
(A) P STOTIE B)  fsen oA
\JQ/ S[geel (S6eT! - o (D) 55 ZA11 |

On June, 2014 which minister of the Central Government has been appointed as
India's Governor on the Board of Governors of the Asian Development Bank (ADB) ?
(A)  “Prakash Javadekar (B)  Nirmala Sitaraman

(C) Arun Jaitley . (D) Smuriti Irani.

o ﬁrﬁwﬁmwwwmf‘%cwmﬁWWwW@ﬁ

(A) ved (Y@ qRIa & P S
) o e AR P p—
The earth rotates around its axis from
(A) North to South B gt 15 North
© Bagtta Weit (D) Westto East.
. 10 of 20
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(B) Derozio

( Mother Ter
. b (D)  Netaji Subhas.

| (35T (eTreT eifdiersr =8 faermy
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The founder of the Bengal Chemical organisation was
(A) Nil Ratan Sarkar (B)  Prafulla Chandra Roy
(@] Dwarakanath Tagore (D)  Alamohan Das.

WERE, 2014 (S W RSB i REFRe @R s1ey @eor I NI TG ZECT 7

Ly StRIE Smdhet (B) 'WW‘{W
(C)  o6¥ @M D) R o= Sy |

In October, 2014 the Urban Housing Mission has been named after which of the

following national leaders ?

(A)  Sardar Patel (B)  Shyama Prasad Mukherjee
(C)  Subhas Chandra Bose (D)  B. R. Ambedkar.

e srorom wRAPNTE eaw Sifee 2

(A) §ﬁ W@W"F‘T

(c) ferera (D) e

The main occupation of the people of the Indus Valley Civilization was
(B) Cattle rearing
(D) Trade.

(A)  Agriculture
(C)  Hunting

'3291A - 11 of 20

Scanned by CamScanner



» O1 E V1644

@ ) \w/
g9 (@ co (V) o!f
¢ s1opurewat 4

o
2 278 T PUe ¢ POpIAIp 9q 0g. pe £Z0T JI UOMm Aq Ioquinu jseyesid ou stITUM %‘\
e g, O ¥y
g @ s9 (V)

‘€€
¢ DIl RlDGla T SbB € MBlbk ke sl $10SL b ETOT 1K) likske feozb bold) €
anowrzer (@ anow OST ) A
onow g.obT (g onow 511 \2 ) M\
. st urern} ﬁ‘e\ﬁ‘
, 37
0 YISu9[ ‘y/umy og jo paads e ym Suraowt .oomMNN ur jurtod & S9sS0I0 UTEI} B H %&.
_ .

¥ slael zeT (@) slakl 0ST
_ W
slay S0bT () slae] S-CTT §§
%E%,Egg%qgwm@mﬁgwﬁﬁﬁﬁuzﬂ&om .mm

zit (@ 9zt (0) g’
ot (&) : R 2 AT\
¢ arenbs 109119d ® ULIO} 03 8659 0} PIPPE 39 03 Idquinu ISeI[ 29U} SI Jeym

zit (@ YA \Q
ot (@ : Za8 i

; 523 libdke Joblols QB Ylodlelh) L slk) Iibdle houRk o) kdie B5-86S9  “Tg

:Krosyndwod 91e suonsanb [y ‘uonoag sy} Ul [[e ut suonsanb g1 are 1oy, .54%
| plblejle B loble | B 8 4 ST QO 1IGL] 3B <7\ .

2\

e MG
III - UOI}09S ‘ﬁ\ . s
| wan  A\#5

SloleQlle 10 "t

I - klak] 4 :\M i
75 |
7% L102-008sO
<

Scanned by CamScanner



CSSCD-2017

34, 2 (N 12-99 N TS SRl cqpapgeer 21
@) 26 7 55,1108,
A (B) 29 /
( | (D) 28 2%
Sum of the prime numbers between 2 and 12 is ‘
A) 26 T
(C) 25 —
35, 0 W 5% (N T 4% TET @ g aliely AR S 250 B P I @ I o
TN F© ? | x-aus 253
o @)
(A) 22,500 B (B/ sseaEE o e 25
\@K 20,000 5=l (D) 25,500 51l
If rate of interest reduces from 5% to 4%, a man gets Rs. 250 less as his yearly
interest. What is the capital investment of the person ?
(A) Rs. 22,500 (B) Rs. 25,000
(C)  Rs. 20,000 (D) Rs. 25,500
36. 3 7963 + 963-8 — x + 7-953 = 18:732 T, OF -4 I W 562, -8
| : | 5.6%
(A) 1070115 (B) 1063115 :3._9’55,
Sy~ 1032651 (D) 979214 E/;«Eé
If 79-63 + 9638 — x + 7-953 = 18:732, then value of x is g 2’3
| 0
(A) ,~1070-115 (B)  1063-115 ( 5;
. D) 979214
(0/ 1032:651 ( /rf;—b\,—
0 6%
37. J90+0-09x10-43 VT A
0
(A) 8100 By~ 100 .
(©) 1000 D} 81000 | 96( (o
Valueof‘/90%0-09x10 is @o’
(A) 8100 (B) 100
(C) 1000 (D) 81000
—— .
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